
 

 
 

 

 

 

S6 Figure 

a.
PDE	group	=	197:201	+	339:619
PDE	group	=	225:248
OB	group	=	249:338

Anchor	group	=	4:41
Anchor	group	=	46:87
Anchor	group	=	88:120
KH	group	=	121:173	+	216:220
KH	group	=	174:215
Anchor	group	=	221:283

Accessory-1	group	=	309:323
Accessory-1	group	=	402:437
Accessory-1	group	=	443:538
Accessory-1	group	=	539:648
Accessory-1	group	=	1011:1039

DPBB-1	group	=	345:401	+	438:442	+	649:657
Clamp-1	group	=	324:338
Clamp-1	group	=	1074:1095
Clamp-1	group	=	1096:1195	+	1273	(Zn-III)

DPBB-2	group	=	42:45	+	823:829	+ 872:876	
+	915:943	+	959:964	+	989:997

DPBB-2	catalytic loop group	=	944:958
Clamp-2	group	=	658:667
Clamp-2	group	=	668:766	+	1271:1272	(Zn-I	and	Zn-II)
Clamp-2	group	=	767:822
Clamp-2	group	=	965:988

Accessory-2	group	=	830:871
Accessory-2	group	=	877:914

DP1

groups

DP2

groups

b.

90º
90º18

90º


